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1. A woman with stage I, grade I adenocarcinoma of the end%ﬂemed with a total
v

abdominal hysterectomy and BSO. Inspection and palpatio para-aortic
lymph node are nothing remarkable. On bisection of the uteru nfigred to the
endometrium, proved by frozen section. The following management shoyfld i

A. no further therapy ) }{Q
B. local vaginal cuff radiation }\ A/

C. external pevic radiation 2

D. pelvic & para-gortic lymphadenectomy ?& '
E. medroxyprogesterone

2. According to the FIGO staging (1989) for endometrial cancer, vaginal involvement without
retroperitoneal lymph node, or distant metastasis, bladder and rectum not involved, the
assigned staging will be :

A llc B.IIa C. b D. Ilc .

‘ 3. Which one statement about endometrial cancer is NOT true ?
A. Peritoneal washing should be done in every surgically treated case, even in GI lesion
B. The degree of histologic differentiation is one of the most sensitive indicators of
prognosis
C. Age at diagnosis is one of prognosis
D. One or both ovaries may be preserved when treated with hysterectomy,
especially in stage I lesion
E. Instage I endometrial cancer, there is about 10-12% incidence of pelvic
node metastasis and 7-10% with para-aortic node metastasis

4. A 7l-year-old woman has postmenopausal bleeding. Fractional D&C reveals
adenocarcinoma confined to the endometrium. The most important prognostic factor for

this woman would be :
A her age B. the tumor grade C. the size of uterus
D. the depth of myometrial invasion E. none of above ‘

5. The exogenous factor most often associated with the development of anaplastic
endometrial carcinoma and mixed mesodermal tumor of the uterus is :
A. ingestion of conjugated estrogens
B. ingestion of sequential birth-control pills
C. ingestion of combined birth-control pills
D. prior pelvic irradiation
E. placement of an IUD

6. RU-486 A RKALAL F# > —MERRERANALS-A 7

A6 B.7# C 81 D. 108
7. FRTRBARRTHR?
A. Merarche B. Thelarche C. Adrenarche D. Pubarche

8. SRR LRAH AL > %% Delayed Puberty ?
A 13 B. 14 C.16 D. 17

o, CRLEAM » 1 EBERBH MM AT
A. BIBRRREE B. miA S C. FiiEpx ¥k D. Tk

E AL¥RETHR
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A RHEE R ROMAE

B. #-cTk f TR (BB )

C. MBI » MRTR— AT E A TR ik

D. #MS% ¥ B4R TFEARRE

E B2HRRI > 5 ETRRH -5 F(ARMTRAHALR) 1;i%5

LA MERN EOMATAER?
A BR-BBRAFEEN AETLFOTLE L5 FREAN fé%’
B. iFBR 5 AMAMEAL > MEHALE )
C.$ﬁ£@&m4ki—iwﬁﬁi$#’ia¥é~#ﬂ~&ﬂk#ﬁiA¢€>
D. #¥ 28 MEHLAUNF R
E RRHEMEAE » LEEAROBRF R

12.423% ~ 25 B Epilepsy 84 8% » BWMARMIEFRE > - REXRRHFLE ]

o BB BRI XRTE AT
A UBRBRR B fMF C HxX¥ME DFTARRE E&HN

5. 13. AT AT RMEGRAEREILE ILERADS ] KA ?

10, % f4 i & & (intrauterine deuice) )& X5 & 4T * %

A LERTR B. 1.4 #¥(Mammography)
C. ta$i3hR fu pb %M & (Fine needle aspiration cytology)
D. %%+ E. 8MARBABMRD)

14, 344 Je.04 $L#% (invasive breast cancer)#) & M » K A LA R G L F 45 A B4 K M6
A o R B R A2 JLA% AR Mk T #5(Modified radical mastectomy)dy & & 47 % & 7
A HBEREE B. BB R IRAE C. Wy mz gt

D. $&safwHM E. XVRASRA
15. 5L AR B A M) 15 69 2R ?

A MR K B #MERLH C BRTHEMBHBSAT D AALM
16. %) & hé (Hydatidiform mole)f& % W40 85 sk X4 A

A. Hyperemesis gravidarum B. Excessive uterine size
C. Hyperthyroidism D. Precclampsia
17. (G WS MR L B30 B GTT sy ik B 495
A 1% B. 15% C.33% D. 50%

18.Placental-site Trophoblastic Tumor 2 43 #% :
A. ;& choriocarcisome &% ¥ R.49 — & B. RYH4 k5N
C. SHEB G RBTHE D. %% syncytiotrophsblasts #a 5%

19.Abnormal findings of Ceroical Colposeopy €45 F 7] 8K ?
A. Aceto-white epithelium, Dysplasia and Punctation
B. Punctation, Dysplasia and Mosaic
C. Mosaic, Dysplasia and Melaplasia
D. Punctation, Mosaic and Melaplasia
E. None of above

20.3% ¥ & ¢4 Phclosophy for endoseopic surgery & :

A. Minimal invasive surgery B.More Cosmetic C. Short hésp; elization
D. Aliofabove. E A+C
21.Laser & :
S— A.Sound B.Light C. Gas D. All of above EB+C —

Uy < L ) R

T




yoatr-4

REELEER NS EERE_ &n@#a(‘j)am

£ &

B &R HK # L g M LA

BX

‘.-W

+
1% B PPK @ 3% | os [ Ay _ax s |
—m'ﬁ“fjﬂm r%—ﬁm TEREERARE  AEANARE  SAROBORNRAN - |

Q&AL MK VIR (5&!) (BR) o

22 % % ¥(USI):6 % # 2 #4442 F » EXCEPT
APUVARE <90° B.PUVAAK >90° C Inclinatlo
D ki#EkXK >3cm - p

23 Vaginal Profile {i] 2 BER 4 21 (UST ATREA IE 2 %
A. 00-00-21 B. 01-20-22 C. 01-00-22 D. 22-00-11
24 Which statement about the respiratory condition in laparoscopy is correc

A. The airway pressure remains the same, since the pneumoperitoneum 1s in the

abdominal cavity.
B. Through pulmonary shunt increases, the head down position may help the c

improved.
C. For the safety of electrosurgery, the inspired oxygen concentration should be r
D. Employ mild controlled hyperventilation to avoid hypercapnea.

E. B and D are correct.

25.Which statement about the following preparation in laparoscopy is WRONG ?

Brachial nerve injury may occur due to bilateral stretched-out arms.

The pneumoperitoneum and positive-pressure ventilation cause the increase blood
pressure,

The Trendelenburg and lithotomy position partially compensate the reduced venous
return.

Avoid bagging before intubation to prevent distention of stomach and aspiration.
Arrhythmia is induced by hypercapnea, and bradycardia is induced by increased
abodominal pressure with peritoneal stretching,

mog 0 wp

26.Which statement about the insufflation gas used in laparoscopy is correct ?

A. room air is not soluble in blood, leaving the patient with days to weeks of
post-laparoscopic shoulder pain.

B. Carbon dioxide is absorbed slower than nitrous oxide from abdominal cavity.

C. Nitrous oxide causes most peritoneal discomfort when using local anesthesia.

D. Carbon dioxide retention plus halothane anesthesia increase the chance of
bradycardia.

E. The gas-less laparoscopy may prevent the disadvantages described on above.

27.Which statement about the hemodynamic tolerance for laparoscopy is correct ?

A. As the laparoscopy is a technique of minimal access, the patients with coronary heart
disease have more benefits from the laparoscopy than from open method.

B. The patient with hypovolemia is a good candidate for laparoscopic surgery because
the increasing intra-abdominal pressure may hold the dropping blood pressure.

C. The hemodynamic modifications are at their maximum during insufflation of the
pneumoperitonéum.

D. During discovery, prophylactic hydration should be added because the exsufflation of
the pneumoperitoneum result in the decrease of the venous return.

E. All of the above.

28 Which statement about the laparoscopic electrosurgery is correct ?

A. The ground-referenced generator of electrosurgery is safer than that of isolated
generator, because the alternate ground site burns due to current division are
prevented.

B. The dispersive pad used in electrosurgery is only for the completion of the circuit of
the unipolar electrosurgery, not for the bipolar desiccation.

C. The good adhesiveness, not it’s surface area, is the point of the dispersive electrode,
because a smaller pad may complete the circuit as a big one does.

D. The use of metal trocar canula may prevent the effect of capacitive coupling of energy,
but a plastic collar should be used to prevent the trocar canula sliding out of the
abdominal wall.

E. All of the above.

% (79 23 ) R
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(1) Gartner cyst ) FEXRDMBTLER A
@) FEMX @) ERN ) TEmse F37
A (1)2)0) s 17}5
B. (1)2)(5) - : /ﬁ’ Z e
C. (1)) 57/ .
D. (2)(3)4) | , }V
E. (3)4X5) ¢ A)),ft{/s
30.F Fi4 4 3 M F ¥ A M43 55 44 triad ? < 271
A. Dysmenorrhea /"A
B. Dyspareunia )
C. Infertility - @

D. Premenstrual spotting

SLEMMFEAMRGE » FFTHREHR?
1) RERHK (2) WP ndgE ik B4

' (3) 18R 2 i6 M ik (pseudopregnancy) & @) REAEAEGAME LR
A A (DOX

B. (12

C. 20)

D. 4)

E. (1)2)B3)4)
32.The endometrial thickness seen on endovaginal ultrasound(EVU) in secretor phase :

A. 10-20 mm B. 7-14mm C. 4-6mm

33 Hemorrhage inside an ovarian cyst is typically -
A. hyperechoic with decreased transonicity
B. hypoechoic with decreased transonicity
C. hyperechoic with increased transonicity
D. hypoechoic with increased transonicity

34.Mucinous cystadenoma and cytadenocarcinoma tend to be
A. A complex mass with cyatic compartments and internal structutres
B. A thick-walled cyst with curvilinear calcification
C. A thin-walled unilocular cyst with focal nodule
D. A solid mass with descrete cystic parts

ISR a0 06 LA B E R
(A) Xerograft (B) autograft (C) semi-allogenic graft (D) A L% %

36.F 7]4T# myona 2 & 31 R TR AL :
(A) Submucosal (B) iutramural (C) Subserosal (D) »A L% 3k

37.autiphospholopid i & &) F ML AE MM » A THE B :
(A) 3 /e thromboxane &4 Fl (B) #& ') prostacycline & % ¢
(C) M /m protein C #y aetivation (D) 3y #] trophoblast & &%k

38. A patient in pregnancy with yolk sac tumor of ovary the positive tumor marker should be:
(A). AFP (B). B-HCG (C). CA-125 (D). CEA(E). SEE

39. Which route of spread in the most common one of ovary carcinoma epithelial type
metastasis:
(A). Peritoneal (B). Hematologic (C). Lymphatic

- (D). Trans-diaphramatic (E). Trans-vaginal

(y 24 ) R
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40. Which kind of germ cell tumor is the most common one in Taipei city?

(A). yolk sac tumor (B). Dysgerminoma (C). immature tékatoma

(D). Chorioearcinoma (E). Smbryonocarcinoma 7;
41. The most important C/T drug in ovarian cancer is %

(A).VP-16  (B). Topotecan (C). Cytoxan (D). Platinum (EfKEibpbside
42. The most common ovarian cancer seen in younger than 20 years is: 5'13’/

(A). Malignant cell tumor (B). Granulosa cell tumor

(C). Endometroid Ca (D). Serous adenocarcinoma } V

(E). Theca cell tumor

43. A woman with stage 1, grade I adenocarcinoma of the endometrium is treated;\&th }‘gt
abdominal hysterectomy and BSO. Inspection and palpation of pelvic & p
lymph node are nothing remarkable. On bisection of the uterus revealed confin
endometrium, proved by frozen section. The following management should involve:
(A). no further therapy (B). local vaginal cuff radiation
(C). external pelvic radiation (D). pelvic & para-aortic lymphadenectomy
(E). medroxyprogesterone

44, According to the FIGO staging (1989) for endometrial cancer, vaginal involvement without
retroperitoneal lymph node, or distant metastasis, bladder and rectum not involved, the
assigned staging will be:

(A). Iic (B). Ma (C). 1b (D). lllc

45. Which one statement about endometrial cancer is NOT true?
(A). Peritoneal washings should be done in every surgically treated case, even in GG1

lesion
(B). The degree of hlstologxc differentiation is one of the most sensitive indicators of

prognosis
(C). Age at diagnosis is one of prognostic factors
(D). One or both ovaries may be preserved when treated with hysterectomy, especially in

stage I lesion
(E). In stage I endometrial cancer, there is about 10-12% incidence of pelvxc node

metastasis and 7-10% with para-aortic node metastasis

46. A 7l-year-old woman has postmenopausal bleeding.  Fractional D$C reveals
adenocarcinoma confined to the endometrium. The most important prognostic factor for

this woman would be: .
(A). her age (B). the tumor grade " (C). the size of uterus
(D). The depth of myometrial invasion (E). none of the above

4T F ST SR o ToA A6 R 53k » TRA GO TAEM |
(AP A M A B E AR (B b 4 Rk 4 MK
OREMBRIF L germeell MR (D)FH &M ARl ey BRAM

A8. FFTH X FEMMERHRR .
LRk EFM (—~ =) AFHRBRMERAZRGHRFT X
2. M3 A 0 0 AL AN HNM SR
3. (= -~wmM) B AH concurrent chemoradiation
4. —BEW > SBETRF 0 ARG HEMEB FH5  EREGH/MR
(A).123. A%k  (B).13. A% (C).24. AKX D). 4. Ak

49. 4 ML AL Bdhy 2 K > AT H BIR ?
(A). Bleomycin 45| 4z chills and fever (B). 5 Fu 43| & diarrhea
(C). ifusfamide € 5] #2 hemorrhagic cystitis
(D). vincristine 4§ 3] 42 toxic nephropathy

# (7 2 & ) R
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50. Cervical cancer is the most common female cancer in Taiwan with abogt 2800 new cases
and 900 deaths each year. Which of the following is NOT a ctor to cervical
cancer? }

(A) human papillomavirus (HPV) infection
(B) early sexual exposure (C) multiple sexual partner:dv
(D) cigarette smoking (E) nulliparous ﬁ

S1. Multistage carcinogenesis emphasizes the potential interaction betwee!
control systems
(a) agonist induced signal transduction and the control of gene expressnon c
control (¢) control of the fedelity of DNA and chromosome replicatiom.
infalmmation/trauma and hormone status/pregnancy probably relate to md
transduction that increase cell rephcatnon, which of the following description abo
cell cycle control in the carcinogenesis of cervical cancer is NOT TRUE?
(A) there is mutant p53 suppressor oncogene in most cervical cancers .
(B) the breaking of E2 open reading frame of the HPV relased the suppression to t

promotor of E6/E7

(C) the gene products of E6 and E7 impaired the function of p53 and pRb respectively
(D) none of the above

52. According to Ostor's collective study of CINS, the regress, persist, and progress of CIN 1
were 57%, 32%, and 11%, respectively. For CIN 2, they were 43%, 35%, and 22%.
For CIN 3, the possible progress to invasive cancer was

A) 1% B)5% (O12% (D)31% (E) 65%

53. About the Bethesda system for pap smear reporting, which of the following is

INCORRECT?

(A) the report should mention about adequacy of the specimen, general categorization,
and descriptive diagnosis

(B) low grade squamous intraepithelial lesion (LSIL) includes CIN 1 and HPV-related
cytopathy

(C) high intraepithelial lesion (HSIL) includes CIN 2 and CIN 3

(D) the NCI interim guidelines for abnormal cervical cytology requests all patients with
Atypical Squamous Cells of Undetermined Signiﬁcance (ASCUS) to have
immediate colposcopic examination and biopsy.

54. Among the symptoms of endometriosis, which of the following is most unlikely?
A, asymptomatic
B. increased rectal pressure amid menses
C. onset of dysmenorrhea before menses
D. superficial dyspareunia

55.The definite diagnosis of endometriosis is
A. palpable tender nodule in the cul-de-sac
B. a homogeneous echogenic adnexal mass revealed by transvaginal ultrasound
C. direct visualization and/or tissue biopsy by laparoscopy
D. .non-menstral phase CA-125 > 35u/ml

56.ASRM (American Society of Reproductive Medicine) revised classification is usually used
for stagmg of endometriosis. Which of the following about this classification is false?
A. 1t is the only internationally accepted standard
B. It is to evaluate the extent of disease
C. The score is directly proportional to the severity of infertility
D. The morphology of lesion (red, black, white) is included.

57.myomectomy £ 4 B R A 49 % .
A. 5% B. 10% C. 15% D. 20%
58.chancroid & T4 & 5 ?

A syphilis  B.herpesvirus  C. H. Ducreyi D. HPV
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59.condyloma acuminatum & {7 #8 & % ?
A. HPV B. HSV C. syphilis D. CMV
60 ALY M(AIAH XA FATH »KRT !
A RFHRR B MTHiE®A  C KRHF Sﬁy
e

D. fp-Fey B E BHshfie

f
61. 9Ttk 5 5 i 3t 5] 33 #(Co-culture) L m B A T 5 » BT © j‘L
A. oviduct cells B. uterine epithelial cells C.granulosa cells

D. vero celis E. none of the above }\ 5/;(
//«

62. R AR RS HN L B R AT Y RS -
A. pronuclear stage embryo B. 2-4 cells stage embryo
C. 8 cells stage embryo D. morulla stage embryo  E. blastocyst stage embryo

63 .luteal placental shift & %8 £ £ K18 — K A 2 (LMP)#) ¥ £ 38 M 46
A 3R B.4® C.5# D.6 % E 78

64.4 M STD » T FI4TH Kk
A B 3T & ¥ R4 & gonococcal infection B #f & V34 chlamydial infection
B.i# % =+ 4% R %4 i #) & mycoplasm P 44 chlamydia
C. chlamydial infection #) R ¥ & 2-8 X
D. chlamydial infection % % i& % PID & epididymitis
E. #%# chlamydia % drug & doxycycline

65K —~BRE 35 R RRRS > R W A Cervical ca. Ila » 1 iEeh 68 F X% ©
e (AETRERIEHRLA) wREETHIR - FH 66§ HE
B> HERBITHEKET.__ ko
68.40 X5 Ak # & B 1 Sexual life s hfr# BHITRA
69.40 X35 W B Cervical callb » R IRG M F X BT ?

0. ARBRIHNENRER > ABFAHIVORHER ) LEEATHEERL 2
AR{ AR~ REERRE .
A N3 F WM STS ~ gonorrhea » HPV ¥ ia MM AT B4 ek 5
B REBTRERM » S EWTNITIAE X
C. 2 5 $e- B R 1510 » o4 8 88 5T VA J5 4247 B M) i 47 zidovudine, didanosine, #v alcitabine
¥REBRE
D.i6 L& $ AIDS &M £ 4 30-40% > A eA$R4T C/S it K 44 iRIF
NERLEALBMRAFERFE— £ » MAHGRUALERJEM ARG KRR L EREF
HROBTARAMBALAR ) CXFERRLHBRBER - ORI 8 FH KT
FIE MM SRR » AT HSHIR .
A. aminoglycoside #= vancomycin B % 4 i& 5% ototoxicity + R4 ¥ & %16 A
B. thalidomide % M #7 /A » T M RGRAFMHE » 12 AR M AR LEH R
C. aspirin i &% PDA 2 7 P18 » & &85 A indomethacin X4k » HiE ¥t h L4
D. MAOI #4948 M ¥ 1 € S 807 52, » ik W45 4 hyperthermic crisis # & &

NHE—BLEBLEBLTIRAIS B4 > B2 L RA cleft palate M TREARA T
S 477 M 4h Mt 8 © 1. Griseofulvin; 2. Hydantoin; 3. Carbamazepine; 4. Trimethadione; 5.
Valproate. ’
A 2+3+5
B. 2+4+5
C. 2+3+4+5
Dbt
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